W T AFEH®R (BEE) CERR 27487 A)

(1) MAFEZEORD
Rk 27 4 7 H ROMMAE T 3,675 7 9 TN (RFai#ERIH b 2.2%) TH 0 | #erBRE £ 2,137
71T AN GREHERI AL 83.1%) &> TWET, Fio, #kEa it 1,638 7 7 T A ([A 0.9%)

THY,

BEBRIL0.720 L > TWET,

WRBRE D 5 B, EEREGIRRE %% 28 75 3 T A ([AIAB.0%) THHARRAERERD 1.3% L 72 -
TWET,

(FA) 1 PERBRAE B DOHERS

21,
21,
21,
21,
20,
20,
20,
20,
20,
19,
19,
19,

700
500

100

900 = av—
700 W—H
500

300 M+ —
100

900 P ———— P —
700 i i— - 4.-—-.#

500
48 5A 64 TH  8A 94 10H 1A 128 1A 23 34
W= VP23 == P RR2AEE b= 2B == P K264E . == ERR2THE I

SRR 27 4 T H R OE eI H 480 SE-141% 278,075 (7] 1.0%) & 72> TWEd, £7-. PRk 27
o4 A BERK 27 - 7 H & TORMENEE D RFH4EaIT 26.7 KM (JF] 4.0%) L72>TWET,

(F11) X2 PIEEERIN A B O HER

282

280 —e— ———x
278 W /

276

274

272

4  5A 64 TH 8H 9HA 104 11A 12 1A 2H 34
= 2B e SN 2AME e LD = SRR 26 I e ST



(2) R ORI
Wk 27 7 H OLRBRAGATE 1 4,450 (B GFRTAEFRI A L 5.0%) TH Y | 9 b [EFEFAFTE1X 4,138
B (F5.6%). FOMOBEHAE312EMH (FA2.6%) &7eo>TWET,

(f519) X3RRI E OHERS

4,700

4,500

/
1300 / X /SN / A

~— N

4,100

3,900

3,700

3,500

45 54 6H 7TH 84 94 104 11H 12 1H 23 3A
W= V23 == P RR2AEE b= 2B == PR 264E T =t W RR2TAE I

(3)  [EHEE DR

Rk 27 4 7 A OIMMAE 1 N4 7- 0 EREEIT 14,244 B CHET4ERI A b 3.2%) &7->TEBD, 9
B ABEAY 4,060 1 (A 1.6%) . ABesh @Al ZEde, LTEC,) 238,399 [ (A 4.3%) & 72
STWET,

MAE 1L NbI= EREZ BRI L THD L, ABETIE, Z2FEN 857 (A 1.1%), 11F
M7= BEA 9.82 ([AIA1.5%), 1 HY7= 0 &N 48,279 1 ([ 2.1%) L7e->THY ., APt

TIE, %

2R 504.88 ([7 2.1%) . 144 7-0 BN 1.49 (FIA1.1%). 1 HY7= 0 ERE)N 11,173

M (A 3.2%) &72>TWET,

(1) X4 INAFE 1 N47-0 [EREOHER

15,
15,
14,
14,
13,
13,
12,
12,
11,

500
000

500

000

500
000
500

000

500

44 5H 64 7TH 8A 94 104 11H 124 1A 2H 3A
= 2B e SN 2AME e LD = SRR 26 I e ST



(FE1)  GEREERBRERS 3 &5 2 TR A IR D 013 E £ TV RNy,
(JE2)  EREIL, RGBS e R A (AL, ABgSh, R AL RdiR,
AIEEICR D D) TH D,



